PIER TOP PLATE INSTALLATION DIAGRAM
FOR THE TAKAHASHI EM—-400 MOUNT

j==——————— TAKAHASHI TPA-0400 TRIPOD ADAPTER TOP PORTION
(NOT INCLUDED — AVAILABLE FROM TAKAHASHI)

1-1/4" ALUM EM-400 ADAPTER PLATE

M8 SOCKET BOLT x 3 (INCLUDED)

/

1-1/2" ALUM PIER PLATE

“ @

SS SHOULDER SCREWS, 3
REQUIRED (INCLUDED WITH EM-400
ADAPTER PLATE)

COPYRIGHT (C) 2012 DWH PRODUCTS & PIERPLATES.COM ALL RIGHTS RESERVED



INSTALLATION DIAGRAM STANDARD PIER TOP PLATE

HEX NUT, 3/4"-10 LOW PROFILE SS
(MCWASTER(r) PARTH 918574650 ~——===
OR EQUIVALENT)

FLAT WASHER, 3/4" x 1-142" S5
(MCMASTER&rE PART# 98125A446
OR EQUIVALENT)

RS BT MR 08072
MCMA! r Al 130A
OR EQUIVALENT - OPTIONAL)

3616" SLOT FOR STD MILBURN(r)
DGE

/

1-1/2" ALUM PIER PLATE

Nor th

s 20 DEG
ADJUSTIBILITY

TAPPED HOLES FIT MOST EQUATORIAL
WEDGES ( INCLUDING MEADE(r) SUPERWEDGE )

TR A1 MR 0/
MCMA r Al 130A
OR EOUIV&LENT - OPTIONAL)

CiounSTeR ) BARTY o8 126A00E.
MCMA! r Al 125A44
OR EOUIV»&LENT)

HEX NUT, 3/4"-10 LOW PROFILE SS
(MCMASTER&rE PART§ 91851A650 ——===
OR EQUIVALENT)

12" ANCHOR L BOLT, 3/4"-10, 5S
(MCMASTER&rE PART §1615a430 ——=
OR EQUIVALENT)

o

RECESSED SLOTS ALLOW FOR SINGLE PLATE

J-BOLTS SPACED 120 DEG APART
THIS BOLT SHOULD FACE NORTH

(@

APPROX/ 4" MINIMUM
IN AKT-AZ MODE

TELESCOPE 1S TO BE USED

(@

/ 12" CONCRETE PIER

COPYRIGHT (C) 2006 DWH PRODUCTS & PIERPLATES.COM ALL RIGHTS RESERVED



